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page of your answer-book.
(ii) Make sure that the answer-book contains 30 pages (including title page) and are

properly serialed as soon as you receive it.
(iii) Question/s attempted after leaving blank pagels in the answer-book would not be

evaluated.
(iv) All questions are compulsory.
(v) Question-Paper is divided intofour Parts A, B, C and D. Question No. 1to 10 carry

1 mark each and their answer should be in one word only. Q. No. 11 to 20 carry
2 marks each and their answer should be in 20-25 words. Q. No. 21 to 26 carry
4 marks each and their answer should be in 40-45 words and are with internal choice.
Q. No. 27-32 carry 6 marks each and their answer should be in 100-150 words and
are with internal choice.
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15. Mentionvarious levels atwhich changesoccurduetoWestemisation.

16. 'Sohrai' istheharvest festivalofwhich tribe?

17. Twocausesofmodemisation.

18. Listthe stages ofAlcoholism.

19. What is thejoint family?

20. Subsistanceeconomy.

11. ChipkoMovement.
12. Whatdoyoumeanbygender class inequality?

13. Castemobility.

14. Describethe full form ofPNDT.

Part-B
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(b) Small
(d) None ofabove

1

I

1
1

Write true ffalse
6. Drug substancedoesnot influence the families andcommunities.
7. Socialclassesare open group.

Multiple choice questions -
8. Whichof the following is not the feature of caste?

(a) AchievedStatus (b) HereditaryOccupations
(c) Profane-Sacred distinction (d) Endogamy

9. Alcoholismis associatedwithwhat kind ofproblems?
(a) SocialProblems (b) Economic Problems
(c) HealthProblems (d) All ofthe above

10. Urbansocietyis in size.
(a) Big
(c) Both(a) and (b)

BiologicalCategory
1
1

1Activitytheory
Dr.Arnbedkar

Column B
Match the columns :
ColumnA

1. ~ahar~ovement
2. Sex
3. Elders shouldbemore active

Fill in the blanks -
4. .. and problems associatedwith increasingpolitical corruptionamong leaders. 1
5. Theheadofthe villagewasknownas 1
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or
Explain the various problems faced by the old age people.,

or
Write briefly any two caste movements. 6

31. What do you mean byAlcoholism? Discuss the factors or reasons responsible for it in detail. 6
or

Define Domestic violence. Explain any four forms of domestic violence in detail.
32. What doyou understand byModernization? Discuss its characteristics in detail.
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4

4
4
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4

Write a detail note on rural society.
30. Write anote on dominant caste.

What doyoumean byRevivalist movement.
Part-D

27. What is displacement? Write a detailed note on it.
or

What is housing? What are the causes responsible for housing problems?
28. What doyou understand by caste? Explain the difference between caste and varna.

or
Explain the progressive and liberal feminism theoryoffeminism.

29. What is class? Discuss its characteristics in detail.
or

or

or
How does the Govemmenthelp in the rehabilitation ofthe old age population?

26. What are the effects of domestic violence?

Write two impacts ofGlobalisation.
25. Write four causes of drug addiction.

Write four features of urban society.
24. Bring out difference between westernization and sanskritisation.

or

Write a short note on Green Revolution.
22. Identify those factors which have led to Dynamismof caste.

or
What doyou understand by Gender class socialization?

23. Discuss income as determinant of class system.
or

Part-C
21. Distinguish between the Gond and the Bhil tribes.

or
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